H & 0l & AHS B Ml A

SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 22,598,162 20,491,426 2,106,736
= 10,798,082
[ 657,557
= 2,240,119
Ea 8,902,404
MNASSE SXJ|g &4 8,505,055 7,491,803 1,013,252
= 6,307,610
[ 145,294
= 750,585
= 1,301,566
=D =2 M2 W =2 8,444,608 7,491,803 952,805
= 6,307,610
= 116,136
= 743,2%
o 1,277,566
28=A 241,573 192,599 48,974
= 193,259
= 24,157
[Ea 24,157
301 LEtE N = 241,573 192,599 48,974
= 193,259
== 24,157
= 24,157
01 ARIE2EHSFS(RRNEERTHE) 241,573 192,599 48,974
O2E=AIXE 1,050,317 %230H 241,573
= 193,259
= 24,157
2 24,157
22, NARSHE L ZANBLHSY(HBIE 1,904,416 1,918,880 14,464
)
= 1,523,533
< 162,353
= 228,530
301 EtE NS 304,416 218,880 85,536
= 243,533
== 24,353
o 36,530
14 JIEt2 8= 304,416 218,880 85,536
OXNTHAE 22 At
1,268,400 x20E « 12 304,416
= 243,533
== 24,353
o 36,530




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,600,000 1,700,000 100,000
= 1,280,000
== 128,000
[Ea 192,000
05 2ItRIE = 1,600,000 1,700,000 100,000
OXEZZAEAIS
1,600,000,000& *17H A 1,600,000
= 1,280,000
= 128,000
2 192,000
N2, NARSHE L ZANSUEH2Y(MHSY 347,007 314,678 3,419
bl)
= 242,968
o 104,129
307 el2tol & 347,097 314,678 32,419
= 242,968
o 104,129
10 AlRISXAIZEHE 22X 347,097 314,678 32,419
OXAREHE 2%
347,097,000 * 10 2 347,097
= 242,968
[Ea 104,129
NS THEHE SAEE M2HA 12,600 12,960 A360
= 3,780
= 8,820
307 el2tol & 12,600 12,960 A360
= 3,780
[Ea 8,820
10 AlISXAAEEHE 22X 12,600 12,960 A360
OXNS 2B SALA S8
131,250+« * 12 12,600
== 3,780
[Ea 8,820
AL XelAr oA Atell2el 30,707 29,263 1,444
= 9,212
= 21,49%
307 elztol & 30,707 29,263 1,444
= 9,212
Ea 21,4%
1 AMEISXAIEEXS 30,707 29,263 1,444
OXELAeI At F0AL Atefl2tel
2,558,916« 1H 122 30,707
== 9,212
o 21,495




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NEX2LE 2K 10,000 10,000
307 elztol & 10,000 10,000
11 AMEISXAIEEXE 10,000 10,000
OXNABHME SELHS| U 0SB0}
g 10,000,000& * 12l 10,000
ZEsHUcTsMAE=sAE 146,141 70,097 76,044
= 116,911
s 29,230
307 212+01& 146,141 70,097 76,044
= 116,911
Ea 29,230
05 2IZtAE = 146,141 70,097 76,044
OslrI=sH 153, 7503 x 1« 123 1,845
= 1,476
= 369
ougr=sz 98,627 2«6 * 122 7,094
= 5,675
o 1,419
OFHIYII=SE
457, 7913 x2E 128 10,987
= 8,789
s 2,198
OFENEA % 303,750 «2H 123 7,290
= 5,832
[Ea 1,458
O3 LM =HZH 244,000 «3H 122 8,784
= 7,027
z 1,757
OFSUHLHEHF (KAL) 015} 2H5-09AI)
235,527 3 «6H 1238 16,958
= 13,566
[Ea 3,3%
OFE L MSHE(Ra? =D BHI34A)
90,2032 «86H « 122 93,183
= 74,546
[Ea 18,637
II=ZEWIAS 69,150 69,100 50
= 8,100
= 61,050
307 el2tol & 69,150 69,100 50
= 8,100
Ea 61,080
1 AMISXAEEXS 69,150 69,100 50




2A:
X XH -
o e

=aak

Ar2l = X 2t
NASSE X018 &4
DTS M2 e 29

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJEECSHIAY
27,150,000 * 100 2 27,150
= 6,600
Ea 20,550
OFE DA (ZHIZFIH 36,900 &)
42,000,000 * 14 2 42,000
< 1,500
[Ea 40,500
NASFD =AAEEE X 120,096 60,000 60,096
301 LEtE NS 120,096 60,000 60,096
02 A2 A 2GS (FHAAHS, NLWE) 120,096 0 120,096
OMASTO 20IALBHE X
9,000& %1, 1128« 122 120,096
HS" J|zdE2d dAs0 25,200 36,000 10,800
== 12,600
s 12,600
301 22N = 25,200 36,000 10,800
[ 12,600
Ea 12,600
02 MBI 2HHSFS(HAANS, XLHE) 25,200 0 25,200
OFSE IZMEBE M3 20
300,000& +7Jt=2+12& 25,200
= 12,600
o 12,600
HEX2AH] XA 29,400 73,244 N\43,844
= 14,700
= 8,820
= 5,880
301 EtE N = 29,400 73,244 N43,844
= 14,700
< 8,820
s 5,880
01 A2 HSHS(RNEERTHE) 29,400 73,244 N43,844
ODZLHY ST
100,000 294 29,400
= 14,700
< 8,820
= 5,880
HAZS0 5,204,987 4,419,968 785,019
= 4,163,989
[ 520,499
T 520,499
301 LEIE NS 5,204,987 4,419,968 785,019
= 4,163,989




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 520,499
s 520,499
01 A2 HSHS(RNEERTH) 5,204,987 4,419,968 785,019
OdASN 333,653%*1,300F « 122 5,204,987
= 4,163,989
< 520,499
[Ea 520,499
M= 15,691 15,473 218
308 XtXIEMSOIH 15,691 15,473 218
08 W=J| 202 & 15,691 15,473 218
MES=10 55,2503 #284H 15,691
RSN =] 37,746 39,423 A1,677
= 30,196
= 3,775
= 3,775
301 EtE NS 37,746 39,423 A1,677
= 30,196
< 3,775
T 3,775
01 AR 2EHSHS(RNEXRTH) 37,746 39,423 A1,677
O Fag=PNI=10 699,000& x54H 37,746
= 30,196
== 3.775
o 3,775
AR =SUHAFEQ) 22,054 22,004 0
= 22,054
301 Eet2 NS 22,054 22,054 0
= 22,054
01 Al EE A ZS(2REXMR) 22,004 22,054 0
Oz At 2= Sl X (1)
3,0632 «600 £+ 123 22,054
= 22,054
=W =dg =34 N 4,680 2,014 2,666
202 04l 4,680 2,014 2,606
01 =LHAHI 4,680 2,014 2,666
OMESY HREZT(SY)
130,000 x3&* 122 4,680
ANZF SEAt 2l X2 12,600 12,600 0
[ 6,300
[Ea 6,300
201 2= 1,300 1,300 0
= 650
s 650




SA: ABIZXID
33 M55 sADIE =4
el FEDIZYEEE N e 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,300 1,300 0
OAtI 22 2 1,300,000 14| 1,300
= 650
o 650
202 04| 300 300 0
[ 150
s 150
01 =LHOHI 300 300 0
OSE At 22l A W=F 0|
50,0002 x2&H +33] 300
= 150
s 150
301 EtE N = 11,000 11,000 0
= 5,500
Ea 5,500
01 Al EE AT S (2 RDEXA) 11,000 11,000 0
OAtell2tel i & R X1
500,000 x22Jt= 11,000
[ 5,500
o 5,500
SEAtel2telA Q124H] X~ 99,560 98,650 910
s 33,876
= 65,684
101 @124H| 88,484 87,574 910
= 33,876
Ea 54,608
03 SRA(RIH )22 U2+ 88,484 87,574 910
OE A 165 =(2HIFIH 10,190 &) 46,370
—JlZ2s 2,621,000 «1&~ 128 31,452
[ 15,726
[Ea 15,726
— gl 140,0008« 1+ 123 1,680
= 840
= 840
—gL2F=E 156,000 x 1812 156
—AN222R+E 300,000& 1 ~12& 3,600
—SEFOHI 1,580,000& x1&+23] 3,160
[ 1,524
= 1,636
—JtE= 220,000 «1H* 123 2,640
— %X 106,0002 x1&»10! 1,060
—&d2=4 1,311,0002 x 122 2,622
O8 YA NE=(2HIFIH 10,5428 &) 42,114




FA SIS
M HASS =XDlE 24
Col: FO|ZMBEE RO A 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—JlZ2=s 2,491,000« 18~ 12 29,892
= 14,946
= 14,946
—gAZAHI 140,000 x1&* 122 1,680
[ 840
s 840
—5L22=+HE 150,0003*1& *13] 150
—AZ2t2 25 285,000 x1H« 122 3,420
—SEFHI 1,495,0003 x1H 23] 2,990
—JtE=g 40,0002 x1&* 122 480
— ¢ x==g 101,000& x1&* 10 1,010
—gd2=+ 1,246,0002 « 18 23] 2,492
04 HSRESS 11,076 11,076
04 R (RIHA)22N BE=RES S 11,076 11,076
OSS2E=S(ZHIZ=I 11,0768 ) 11,076
—4HEE 2 (S A, 165 8)
623,000« 1H* 122 7,476
—AUEEZ (A NES)
300,000& x1H~12& 3,600
SHs XEY SEAMHIA X 110,910 94,800 16,110
= 75,960
[Ea 34,950
201 fer23| 11,000 11,000 0
[ 7,700
o 3,300
01 AtR2tc|HI 11,000 11,000 0
OSH UEE SEAHIA(MR22IHN) X
1,000,000« 110HSH 11,000
[ 7,700
Ea 3,300
202 04l 2,400 2,400
01 =LHA LI 2,400 2,400
OAtl2tel ge=d
20,0002 x22H+53|x 12 2,400
301 EetE2 N = 97,510 81,400 16,110
[ 68,260
s 29,250
01 Al 2E AL S(FREXME) 97,510 81,400 16,110
OSH XUEE STAHIA(AtIZ2IAIY)X
el 97,510,000 * 14| 97,510
= 68,260
= 29,250
Arel2tel JERA oHe 60,447 0 60,447
= 29,158




SA: AR =X

M MASE SADIE ¢

Rl Aldi2tel XA O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 7,289
s 24,000

AtedlZiel MEHA NS (A2S 022l AL) 60,447 0 60,447
= 29,158
== 7,289
[Ea 24,000

101 e124d| 60,447 0 60,447
= 29,158
=S 7,289
s 24,000

03 SRA(RIH )22 U2+ 60,447 0 60,447
(@RI =a= 0 Pyt VA eilal: | 60,447

—2SZ02CIAL QIAH| 2|
3,037,250« 18~ 12& 36,447
= 29,158
== 7,289
—S|E30 &AL 21l ZHIRES

2,000,000« 1H =122 24,000

2AHE &2 & stat X 11,230,806 10,493,430 737,376
= 4,457,126
[ 512,263
= 1,239,676
[Ea 5,021,741

el SXSH 9,541,469 8,906,235 635,234
= 4,457,126
= 1,138,423
= 3,945,920

gofelis 50 K= 1,698,229 1,591,475 106,754
= 1,188,760
< 162,841
s 366,628

301 EtE NS 1,698,229 1,591,475 106,754
= 1,188,760
== 152,841
[Ea 366,628

01 ARSI 2E AL S(SREXMH) 1,698,229 1,591,475 106,754

OZelgs 80 Xa

3,516,002 483 1,698,229
= 1,188,760
== 152,841
o 366,628

=== (01x) X2 252,726 105,338 147,388
= 176,908
s 30,327




SA: ASI=XID
33 AAE o2 2 gy X
chel: Fofel =XEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 45,491
301 EtE NS 252,726 106,338 147,388
= 176,908
= 30,327
= 45,491
01 Al EE AT Z(2DEXR) 252,726 105,338 147,388
OF U ES=IWIESI A=, 505,452 *500H 252,726
= 176,908
& 30,327
= 45,491
o= (Xael 8) K= 161,760 208,726 N46,966
= 113,232
< 19,411
s 29,117
301 EtE NS 161,760 208,726 N46,966
= 113,232
== 19,411
[Ea 29,117
01 AR 2EHSHS(RDNEXRTH) 161,760 208,726 N\46,966
OZM=E (2 &) X2
480,000 *337H 161,760
= 113,232
== 19,411
o 29,117
ZOoHQIRtelX& (Lt tel) 374,846 328,781 46,065
= 187,423
== 74,969
o 112,454
101 e124d| 373,846 328,781 45,065
= 186,923
= 74,769
o 112,154
04 JIZtN2Z2 XS+ 373,846 328,781 45,065
OFoHeIdXtel X (LerEEAH)
2,396,448 x13H 122 373,846
= 186,923
= 74,769
[Ea 12,154
201 et 3| 1,000 0 1,000
= 500
= 200
Ea 300
01 AtR2t2|HI 1,000 0 1,000




SA: ASI=XID
33 AAE o2 2 gy X
chel: Fojol =XISA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFofeILR2] AR (LS HUH)
1,000,000 %14 1,000
= 500
[ 200
T 300
oL X2l XI& (AL Rt2l) 173,046 82,846 90,200
= 86,523
[ 34,609
Ea 51,914
101 @124H| 172,046 82,846 89,200
= 86,023
s 34,409
s 51,614
M ORNZZ2NSE S 172,046 82,846 89,200
OZOHIUTI2! X2 (LS AIRHRI)
1,194, 7623 x 128« 12& 172,046
= 86,023
=S 34,409
s 51,614
201 2= 1,000 0 1,000
= 500
=S 200
s 300
01 AtR2t2|HI 1,000 0 1,000
OF LK X2 (LB AIZEM)
1,000,000 *14] 1,000
= 500
= 200
o 300
ZoIdKelXI& (SXLXel) 161,974 141,675 20,299
= 80,987
S 32,39%
o 48,592
101 21A4H| 160,974 141,675 19,299
= 80,487
= 32,195
[Ea 48,292
04 JIZtNZ22 NS+ 160,974 141,675 19,299
OFofeI el N (SXLRel)
568,937 2«24 B« 123 160,974
= 80,487
= 32,195
o 48,292
201 er=23y| 1,000 0 1,000




2A:
X XH -
o e

=aak

Ar2l = X 2t

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

HoH W

500
200
300

01 AFS2t2ltl

OZ I LXte KIZ (SXILAtel)
1,000,000 *14]

Mo W

1,000

1,000
500
200
300

1,000

MW

2,045,941
1,432,159
184,135
429,647

1,872,835

173,106

307 212+01™

MW

2,045,941
1,432,159
184,135
429,647

1,872,835

173,106

24,089,894 +85&

Mo W

2,045,941
2,045,941
1,432,159
184,135
429,647

1,872,835

173,106

0
==
[
o

SXES0 XA(<Hl,2Hl)

UMY

91,670
27,500
64,170

99,000

A7,330

307 212+01™

M

91,670
27,500
64,170

99,000

7,330

OFHEsXR & FIHKA

9,167,000& 10

A H

91,670

91,670
27,500
64,170

99,000

27,330

Mo W

14,497
10,148
1,305
3,044

3,373

11,124

307 212t01d

HH W

14,497
10,148
1,305
3,044

3,373

1,124

3,624,250 x4H

14,497

14,497

3,373

1,124




2A:

Ar2l = X 2t

M AAANE 42 2 gd XNE
eelr Zoiel SXsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,148
=S 1,305
s 3,044
ZoHe! BsXH Ade =g 2,520 840 1,680
201 =3 2,520 840 1,680
01 At22t2ltl 2,520 840 1,680
O4+BXZA0I92E BALT
70,0002 %38 %123 2,520
LLTHEMEIA BIRH X 86,365 77,760 8,605
= 60,456
< 8,637
s 17,272
307 lztol & 86,365 77,760 8,605
= 60,456
== 8,637
[Ea 17,272
05 2ItRIE = 86,365 77,760 8,605
OZLMEAMEIA 2,159, 1253 ~40& 86,365
= 60,456
=S 8,637
s 17,272
ZOHQIEHA & ZOHQ! 23 AL IR 291,244 179,554 111,690
201 Ler23 | 1,622 1,622 0
02 S5=24g4l 1,622 1,622 0
OFofelzl2 X2l 1,622
—5dJ| eta el 121,000& * 122 1,452
-5 FIIBA =2
170,0002 %12 170
202 04| 4,680 4,680
01 =LHOLI 4,680 4,680
OFojel2ted HRFT(SH)
130,000 x3&* 123 4,680
307 elztol & 201,942 173,252 28,690
02 2B HAIAE & 18,000 0 18,000
Ol R & &Hl dASSAI
1,200,0002 * 15H 18,000
03 PIZHHEE 22X 87,882 80,692 7,190
Osotelgsl X 160,000 «12& 1,920
OSC=eigoieEs X
2,860,750« 12& 34,329
OXNANF A K2
2,440,000« 12& 29,280
OBlge|2teH 25 A&
1,862, 7502~ 128 22,353




2A:

A= X3

T AQNE MOl B B4 X
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 96,060 92,560 3,500
O2Y==0u= 250,000& * 122 3,000
Os0tel =&z JHA 2,000,000& %12 2,000
Ogsd & HM=X4 =02l X=X &
t 1,200,0002 %12 1,200
sofel K| 2atee
1,350,000& %12 1,350
SO0t QIADN 2,000,000& %12 2,000
OAIZEIEs BT S
267,500 +83] 2,140
OAIZEOfR! B2 A
3,150,000& *12] 3,180
OAIZHHI S &FHO0I Alaal R 2t
stote 1,000,000& %12 1,000
OAZFO! 2atE(BE2)
2,000,000& %12 2,000
OSCiEE2 o) H2AMe WFE
=l 7,450,000 1] 7,450
OSCciEiieEal A5 =g stitg
3,500,000& %12 3,500
OSCBE SHET EsZEA
3,000,000& %12 3,000
OXIHMEOH! StAHI==&ACHE
2,600,000 %12 2,600
OXHMEe! mE=¢
2,170,000& %12 2,170
OZofeloe JIgAal X
13,000,000 x12] 13,000
OFfEZT +2/4E K&
46,500,000& x14] 46,500
401 Al HIZ 2018 38,000 38,000
01 Al&H| 38,000 38,000
OzoHelea JIs2S
38,000,000 * 14 38,000
402 2I2F X201 & 45,000 45,000
01 QI XHE AL E R (KM TH) 45,000 45,000
OZHIMHOISTIRME 2 7Y
45,000,000& *14] 45,000
gFojelsssis 24 1,208,359 1,197,190 11,169
= 230,000
= 978,359
307 elztol & 1,170,359 1,183,190 212,831
= 230,000
Ea 940,359
05 212+ =S 1,170,359 1,165,831 4,528
OFISE=XZ 2 (22H])
3,888,888« 18H 124 & 840,000




2A:

Ar2l = X 2t

33 AAE o2 2 gy X
chel: Fofel =XEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 168,000
2 672,000
OIS =TI (2YHI, ALHI)(2HI%
Jb 20,359% &) 330,359,000 * 100 £ 330,359
S 62,000
o 268,359
405 KHaHE SH 38,000 38,000
01 Tt =S F=H 38,000 38,000
OIS =N K2 7Y
38,000,000 * 14 38,000
NS A2 HEAIE RIS 521,800 537,206 A15,406
= 101,360
[Ea 420,440
201 Zet=Ehl 4,000 4,000
02 S3=gl 4,000 4,000
OBl ZXAIE SXE2H]
4,000,000 * 14 4,000
307 212+01& 517,800 533,206 15,406
[ 101,360
T 416,440
10 AlRISTIAIEEE 22X 517,800 533,206 A 15,406
QT FAESAIE 2E(212H])
137,300,000 * 100 2 137,300
= 27,460
[Ea 109,840
OFHL FAESAIE 2E(0FIESEAE)
67,500,000 * 11 £ 67,500
== 13,500
[Ea 54,000
QT FAESAIE 23 (22l2H])
16,000,000 *10H 2~ 16,000
= 3,200
[Ea 12,800
OToHel H&0lS XALE (ZHI=It 8,0008
&) 146,000,000 * 11 2 146,000
== 27,600
[Ea 118,400
Ox=0SAHEH 29 (ZHIFIt3,0008 &)
151,000,000 * 100 2 151,000
= 29,600
[Ea 121,400
JOHASXAIE SAHA SE+& 90,000 106,200 16,200
== 27,000
o 63,000
307 212+01™ 90,000 106,200 16,200




2A:

Ar2l = X 2t

M AQHE Ao & &4 X7
chelr Zofel SXSH (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 27,000
= 63,000
10 AISIS XA EEE2IHIE X 90,000 106,200 A16,200
OZHI=XIAE SALL SEEE
1,525,4232 %59 90,000
& 27,000
[ 63,000
ZOHCIHOIAL RIZME 29 73,158 70,124 3,034
& 18,133
= 55,025
307 QIZt01 A 73,158 70,124 3,034
= 18,133
= 55,025
10 AISIS XA EEE2IHIE X 73,158 70,124 3,034
OXHQIEHOAIE XIHEH 2 (2UIF0t 6,
000 &) 73,158,000 & * 10 A& 73,158
& 18,133
= 55,025
ZOHCIH=AIE 2 K= 1,264,807 1,224,210 40,597
= 853, 165
& 73,128
= 333,514
307 212+01™ 1,264,807 1,224,210 40,597
= 853, 165
= 73,128
= 338,514
10 AISIS XA EEE2IHIE X 1,264,807 1,224,210 40,597
OO H=AIE 2
1,218,807,000& *1JH 2 1,218,807
= 853, 165
= 73,128
= 292,514
Oggdilel 2ig=sAd
46,000,000 *14] 46,000
oI BsMEDIE 29 K& 72,970 70,540 2,430
& 7,297
= 65,673
307 QIZt01 A 72,970 70,540 2,430
= 7,297
= 65,673
10 IS SXAEHE2ZHIER 72,970 70,540 2,430
OHNUTSHEINT 2%
72,970,000 3 =10 2 72,970
& 7,297




2A:

Ar2l = X 2t

B A0S 40 H A N
chel: Fofel =XEA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 65,673
ZOHRIHZ=AIE CCTVEIEH] X2 1,140 1,140 0
== 342
e 798
307 212+01& 1,140 1,140 0
< 342
s 798
10 Al2IS XA EEE 22X 1,140 1,140 0
OO H=F=AIE COTVRIEH] X1
40,0002 +371+9.50H & 1,140
= 342
Ea 798
U Es XU 24 319,839 320,472 A633
== 63,488
o 256,351
202 04| 2,400 2,400
01 =LHO LI 2,400 2,400
Ol SXAE SR8
20,0003 x2H 52|« 12 2,400
307 elztol & 317,439 318,072 AB33
= 63,488
Ea 253,951
05 212t =S 317,439 318,072 AB33
OHHOITERE 2
317,439,000 * 100 £ 317,439
== 63,488
o 253,951
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Ob. B HZ St 2
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OLgNERe 28XE 13,800,000& 13,800
OCEgdzdltzl 28
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04 QIZHHAIAIRH 2 & 7,383 8,500 A7
06.253AHB. 252 RS XH3])
7,383,000 14 7,383
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CENEEREWEE
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Ea 408,249
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= 15,000
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